[image: image1.png]7. (10 points) A one-year zero coupon bond has a yield to maturity of 4 percent and a
two year zero-coupon bond has a yield to maturity of 5 percent. A 6 percent coupon
bond with annual payments, par value of $1,000, and two-year maturity should trade
at what price in the absence of arbitrage opportunities? Give your answer to the
closest penny.

8. (10 points) Suppose that you have $1 million and the following two opportunities
from which to construct a portfolio: (1) a risk-free asset earning 12% per year
and (2) a risky asset with an expected rate of return of 30% per year and a
standard deviation of 40% per year. How can you construct a portfolio with a
standard deviation of 30% and what will be its expected rate of return?




